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1 Differential Jet Rate
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2 Graviton kinematics

Log(Differential Jet Rate 4 - 3)

c c E
o [ Summed Contributions o) r Summed Contributions
S S +3jets incl. e L +3jets incl.
2 107 “2jets excl Q 2| +2jets excl
L o e o
: +0 jets excl.: void I ts EXC-\
10?
L 10* E
10%¢ i
. 10°
P T RS St S = W R N S R SR R B
400 600 800 10001200 1400 1600 1800 2000 2200 0 0.5 1.5 2.5
Pr A®
.—g 0016; Summed Contributions
f0024- T e
oo T T ojee ot
0.01
0.008}
0.006/—
0.004—
0002 LT
T 2 & P DU T UL o 7 =R T
5 4 3 -2 -1 0 2 3 5
n



3 Jet PT
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4 Jet rapidity
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4.1 Jet Rapidity: Production 1, jets with minimal P; of 20 Gev
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4.2 Jet Rapidity: Production 1, jets with minimal Pr of 50 Gev
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4.3 Jet Rapidity: Production 1, jets with minimal Pr
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of 100 Gev
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5 Ht calculation

5.1 Ht calculation: Production 1, done with minimal Pr of 20 Gev
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5.2 Ht calculation: Production 1, done with minimal Pr of 50 Gev
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5.3 Ht calculation: Production 1, done with minimal Pr of 100 Gev
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